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A SIOteIA Dt
M OrEE NEE dFAMHIA WS
CH9l: AIRIO| HIZBHE QIIBH AHIAKIS (crol: m2)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
OsgolaE=)l A el
50,979% *44 01+ 12& 26,917
OIEZHM =2 17,0452 +440H = 123 9,000
O0|=sEI2A ML= 140,000& 122 1,680
Q&2 StAES| Molea & Saz
25,0002 x 128 300
Oodlatg selg 40,0002 *12& 480
O ZUIS= HAII| |SXES B
] 250,000& =123 3,000
308 AXIEHMSO0IA 25,106 24,337 769
13 SI |2 SUICHEH B AR L EFALH] 25,106 24,337 769
OXMU=RISEZEANAE 23
25,106,000&*13] 25,106
405 XHaHE S| 63,9% 55,625 8,371
01 ML =ZFSHI 63,9% 55,625 8,371
SIRE MIHYI 7Y
553,000 *3CH 1,659
ORIRE A 7 326, 700& *10CH 3,267
OflEE X=Z&eldll #
750, 00021 45CH 3,750
OLIEE AXI2ANY 7
1,540,000 *2CH 3,080
OXEAZI| 2 2,280,0002 %30k 6,840
ORIHT SHUIIE 7Y
3,500,000 *2CH 7,000
Ok Sgtirg=s) U 2
7,800,000 *3CH 23,400
ORZHE dES &9 =el HHl ¢
375,000& *40CH 15,000
AL CHH A XA 22,889 22,668 221
= 22,889
201 2| 21,149 22,308 21,159
= 21,149
01 AtR222lt| 20,669 21,304 AB35
OoAYLHEN 292 7Yl
200,00021%3%4 23] 1,200
2 1,200
OolAR48 Sap)A|
8,000& 3G +x7 x12& 2,016
2 2,016
OURAYD EM TRED| £ 7Y
400,000 *43] 1,600
= 1,600
ONRAYD X [DIS=E)| £ 7Y
400,000& %53 2,000
= 2,000




FA: GO
I SEg NSE dIAMHIA MS
CH9l: AIRIO| HIZBHE QIIBH AHIAKIS (crol: m2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OfAER =8 ARES 7Y
661,083 * 12 7,933
2 7,933
OHNIR 252 It M=
6003 »8,333& 5,000
2 5,000
OolYS =X SABK 7Y
23,0003 208 Ax23] 920
= 920
2 s323H| 480 1,004 N524
ONALSR =0 RER=
40,000 * 122 480
= 480
202 04| 540 360 180
= 540
01 =LHOHI 540 360 180
OfAE: Ws & HAX A0
60,0002 x3& +32] 540
= 540
405 KHoHF S| 1,200 0 1,200
= 1,200
01 AL =S F = 1,200 0 1,200
O3 22 IR &
1,200,000 *14] 1,200
= 1,200
IIEAHSEANR G288 2 87,286 88,037 AT51
= 87,286
201 fer= 3| 80,806 80,957 A151
= 80,806
01 At2teltl 80,806 80,957 A151
Osd IE=HHSEL R AIF2ACIBl UK
42,915,000& x13] 42,915
= 42,915
OJIIE2HSFAD BEIME & S2HL
-8 2,075,000& %12 2,075
= 2,075
OINEHAHSEUR SAEL 7Y
24,0002 602 * 122 17,280
= 17,280
OJIEHASELUE A EH 2
117,000& »33| x4 3 1,404
= 1,404
OJIBHAHSELIDN &2 S5 HE
85,0002 x32| x4 1,020
= 1,020




FA: GO
I SEg NSE dIAMHIA MS
CH9l: AIRIO| HIZBHE QIIBH AHIAKIS (crol: m2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OIIEAHNSELER 223 7Y
1,000,000& 128/ 12,000
= 12,000
OIIFAASELR D= ARESHl 7Y
500, 00021 *43] 2,000
2 2,000
ONEBIHS=Y248 S20HAY
8,000&*x2&*112|«12& 2,112
= 2,112
202 04| 6,480 7,080 2600
2 6,480
NENEE 6.480 7,080 600
OB JIZAHSSUIDN HE ol
20,0002« 12« 122 2,880
= 2,880
ON=BHSZYR +8 oft]
20,0002 x2EH+53|* 12 2,400
= 2,400
OIIEAANESR(ZE,52) 1= 0|
60,0002 x2& x 102 1,200
= 1,200
QEZSdE 29 886,678 999,664 112,986
201 er2 3| 248,438 200,674 38,764
01 AtR2telHl 56,480 48,550 7,930
OSHH AR itz
3,590,000 123 43,080
OZdE 2g 2UZAS AgH &S &
s Y 3,000,000& %12 3,000
OS4H 2= XA 10,000,000 =12l 10,000
O24H 82 & X
100&*4,000& 400
02 S3=gHl 191,958 161,124 30,834
OZHIE AIR4 2teld
4,500,000 ~12& 54,000
OSHHAIAY SIS 553,500& 122 6,642
O24H ALY |RXESE
10,943,0002 x 12& 131,316
303 Zal= 200 200
01 Za= 200 200
OZHH 223 52& Zd=
100,000& 2 200
307 glztol & 638,040 755,990 A117,950
05 2IIRIE =2 638,040 755,990 A117,950
OSHH=23 22t
53,170,000& x12& 638,040
sX?as =24 90,200 194,400 104,200




2A:

X XH -
o=

= HHMHIA M

XEE 52 Y
CH9l: AIRIO| HIZBHE QIIBH AHIAKIS (crol: m2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
201 er23 | 90,200 194,400 104,200
01 At2teltl 90,200 194,400 104,200
OdA==E 100,000 *762Z* 112 83,600
o228l 50,0002 *127H* 112 6,600
YA HHI(Sotel&m) 388,791 383,459 5,332
oI 2| 121,972 139,921 A17,949
el 24| 121,972 139,921 A17,949
101 @124H| 121,972 139,921 A17,949
01 &= 118,171 136,232 A 18,061
OARII2R4Y
11,3193 x20E+30A| 2+ 123 118,171
02 JIEtAE = 3,801 3,689 12
OAIZtRI 2S5
10,5562 x 1 *30Al 2t 122 3,801
=&l 266,819 243,538 23,281
Jl=2&H] 266,819 243,538 23,281
201 el 211,379 178,798 32,581
01 At2telt] 211,379 178,798 32,581
Osiileldtzd SS+Et|
200,000 122 2,400
OXE JIEARESHI
5,500 %368 * 122 2,310
OdioIMzZele EH, =82ME 2
262,570 x 141 * 122 16.666% 7,352
O=AEX 72 (M)
27,0002 =202t A% 123 6,480
OAU=5 XA GRUE =2
43,5204 2832 x3A| 2t 36,949
OFRISES L3 Z2U3 XS
6,000,000& «12& 72,000
OSPIE FOSE U QAARRE 29
140,000 x260H 2 3,640
OXseIslls 43 7Y
89,5002 *43] 358
OFpIS=Qi2 D MK w2
25,0003 »30% 750
Od=ZAE =X 2 110,000 +x0& 990
ORoEZI| 22F WA
45,0002 x44CH* 122 23,760
ORANALSEX
63,0003 128t A% 123 9,072
OZFUSESE2LIEA(Al, SHER)
28,6003 #72F A%2600 A 5,206
OX0IS=Z 23 NEA 8X
5,000 »4=5+2600 A 520
OF0SE 2d 222 3.500




2A:

G10+21 2 0t

M HAPAZH|(SIOIRIRAD)
&l D122 (CH9: &S1)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
—EAE M 2,500 »200% 500
—BHE M 100, 0002 *300H 3,000
OLZUE 78 ST
27,0003 x2&5+260 2 1,404
OQZSHESE SALHEN
57,1403 x38+ Ax260H A 4,457
oz 10,0002 x3=5+260 & 780
OFUSEZ FAHZ I 22 79
20,0003 2600 A 520
ORIZAAl S2HABAS
500,000 <22 1,000
OMsS&I| Rl
91,0002 %12 9
OJI=eR a82 95 =234
8,000 x30H 8 * 12 23,040
Oo0ls2Iaa 29 150,000« 12& 1,800
Ol HAANEES 7
2,000,000 %13 2,000
OJt&A=E ML(50H) BEXE M=
2,000 +5000H 1,000
202 04| 50,400 58,800 A8,400
01 =LHOHI 50,400 58,800 28,400
OJ|22UEEN|
20,0003 x30E 7L 12 50,400
203 HR=H] 5,040 5,940 A900
M EAEER=A 5,040 5,940 2900
ORAMZEYE =2t 420,000 122 5,040




